



THE ADMINISTRATION OF UNION TERRITORY OF LADAKH
OFFICE OF THE MISSION DIRECTOR, NATIONAL HEALTH MISSION
(Email Id: mdnhmladakh@gmail.com)

Notification No: 25 SHS/MD/NHM/HR/2025-26
Dated: 7/03/2026

Subject: List of candidates who have applied for the different posts under Notification No. 157/SHS/UTL/NHM/HR/2025-26.

In pursuance to this office advertisement notice no:- 157/SHS/UTL/NHM/HR/2025-26 Dated: 29/01/2026, this office has received application forms for various posts under Notification No. 157. Notice for Various Contractual Appointments under the National Health Mission (NHM), UT Ladakh for the FY-2025-26.

After scrutiny of application forms, the list of candidates whose application forms are found to be complete as per the aforesaid advertisement notice is attached as (Annexure "A")

Those candidates whose details in the list are incorrect or require correction are requested to visit the Office of the Mission Director, NHM UT Ladakh, K2 Continental, Skara, Leh (near the Animal Husbandry Department), within 07 days from the date of issuance of this notification, i.e., from 14th March 2026, before 4:00 PM, along with the relevant supporting documents.

No requests/representations or claims whatsoever shall be entertained after the expiry of the stipulated period.

No: SHS/UTL/NHM/HR/ 9446-9461
Dated: 07/03/2026


Tushar Anand/IAS,
Mission Director,
National Health Mission,
UT of Ladakh

Copy to the:-

1. Director of Health Services, UT Ladakh for information.
2. CMO Leh and Kargil for information
3. OSD with Hon'ble Lieutenant Governor, UT of Ladakh for kind information of the Hon'ble Lieutenant Governor.
4. OSD with Chief Secretary UT-Ladakh for kind information of the Chief Secretary.
5. Director Doordarshan Kendra, Leh for information with the request to include above notice in between local News Bulletin for information of the candidate
6. Private Secretary, to Hon'ble CEC, LAHDC, Leh/Kargil for information of the HCEC, Leh/Kargil
7. Station Director, AIR Leh/Kargil with the request to include above notice in local news bulletin for information of the candidate
8. Assistant Director Information, Leh/Kargil for information with the request to give wide publicity for the general information of the candidate
9. Information Security Expert, ABDM for information and with the direction to upload on the NHM Ladakh web site
10. State IEC Consultant for information & N.A
11. State e-Record Manager for information & N.A
12. PA to Principal Secretary, Health & Medical Education for kind information of the Principal Secretary.
13. Office Notice Board.

Annexure "A"

Applications for Senior Consultant under Tele MANAS									
Sr. No	Name	Parentage	R/o	Qualification	Registration No.	Marks Obtained	Total Marks	Percentage	Experience
1	Dr. Shaheena Parveen	Mohammed Saleh	Saboo Meyak	MBBS, MD Psychiatry	JKMC-6156	1447	2450	59.06	3 years Senior Resident from GMC Srinagar

Applications for Consultant under Tele MANAS									
Sr. No	Name	Parentage	R/o	Qualification	Registration No.	Marks Obtained	Total Marks	Percentage	Experience
1	Dr. Skarma Tsultim Spalzang	Ishey Namgail	Shey	MBBS, MD Psychiatry	TNMC-174441	1401	2450	57.18	Nil

Applications for Clinical Psychologist/Psychiatric Social Worker/ Psychiatric Nurse under Tele MANAS

Sr. No	Name	Parentage	R/o	Qualification	Marks Obtained	Total Marks	Percentage	Experience
1	Saima Banoo	Abdul Majid	Nunamchey	MA Psychology, M. Phil in Clinical Psychology	7.08	10	70.8	Nil
2	Hamida Kousar	Ghulam Abass	Nunamchey	MA Psychology	766	1300	58.92	3 years as an Educational Councillor at JK Northern Public High School
3	Stanzin Nurboo	Nawang Tsering	Kharnak Nyoma	MA Psychology	1046	1800	58.11	1 year as a clinical Psychologist at Ladakh Scout 2 years as a counselling psychologist at Chamtse Mental Health and Social Service, 2 years as a mental health counsellor at fortune saithi Pvt. Ltd.
4	Tahira Banoo	Abdul Rehman	Chokiyal Kargil	M. Sc. Applied Psychology	582	1000	58.2	6 years as a Gram Rozgar Sewak at BDO Bhimbat Drass
5	Samina Anjum	Iftikar Ahmed	Shey	MA Psychology and Diploma in Rehabilitation Psychology	8.31	10	83.1	1year 6 months as a coordinator in (NMHS-2), 1 years internship at Rainbow Child Care Center
6	Tsering Yangzes	Punstog Joldan	Skara	MA Psychology	7.5	10	75	2years 6months as a counsellor under Tele MANAS

7	Stanzin Yangdol	Tsering Namgail	Shenam	MA Psychology	1370	1800	76.11	2yeras 8months as a counsellor under Tele MANAS
8	Kunzang Chuskit	Tsering Chosgial	Chuchot Shama	MA Psychology	6.739	10	67.39	1year 5months as internship at PSRI Hospital, 1 year as an educator at the Horizon Pre-School and day care
9	Farhanan Itrat	Fida Hussain	Ranbirpur Thiksay	MA Psychology, M. Phil in Rehabilitation Psychology	1428	1800	79.33	Nil
10	Chuskit Dolma	Tsewang Morup	Matho	MA Psychology	1249	1800	69.38888889	1 month internship at SNM Hospital, 3 months intership at NIMHANS, 7 months as a AFHC Counsellor at PHC Nyoma
11	Phuntsog Dolkar	Jigmat Dorjey	Murtsey Colony	MA Psychology	5.826	10	58.26	1 moth internship at SNM Hospital, 3 months internship at NIMHANS, 7 moths as Counsellor under Tele MANAS State Health Mission Delhi
12	Stanzin Edzes	Phunchok Dolma	Likir	MA Psychology	1350	1800	75	2 years as a AFHC Counsellor at PHC Chuchot
13	Naida Akhtar	Syed Ullah	Thiksey	MA Psychology	1320	1600	82.5	1-month internship at Smart Neuropsychiatry clinic
14	Nazneen Malik	Ghulam Rasool Malik	Saboo	MA Clinical Psychology	7.65	10	76.5	2 months internship at SNM, 1 month internship at centre for Child and Adolescent Wellbeing, 1 month internship at Antarman Healthy mind and body.
15	Mohd Aqeel	Mohd Hadi	Sankoo	MA Psychology	789.8	1300	60.75384615	Nil
16	Stanzin Samchok	Punchok Angdus	Zanskar	MA Applied Psychology	6.4	10	64	1 month internship at Prayas Social Work in Criminal Justice
17	Mohammad Sadiq	Shabir Hussain	Goma Kargil	MA Psychology	769.5	1300	59.19	Nil

18	Tsering Disket	Sonam Angchok	Domkhar	MA Psychology	1093	2000	54.65	2year 3month as a Child Counsellor at Rewa Society, 2year 7months as a counsellor at Tele MANAS Leh
19	Shafiya Banoo	Mohd Amin	Chuchot Shama	MA Psychology	7.43	10	74.3	6 months as an AFHC Counsellor at PHC Tangtse, 1year 7months as a coordinator at District Child Protection Leh
20	Stanzin Youdon	Sonam Stobgais	Chuchot Yokma	MA Psychology	1252	1800	69.56	3 months as an assistant professor at EJM College, 1 month work in field of psychiatry at SNM, 1 month as project manager at university of Rochester
21	Stanzin Palkit	Stanzin Rigzin	Padum Zanskar	MA Psychology	6.87	10	68.7	Nil
22	Thinlas Tsomo	Phunchok Sangdup	Stakna	MSW	6.1	10	61	1years 2monoths as a counsellor at Harbans Bhalla Educational Trust, 2years 7months as a field supervisor at Bal Raksha Bharat 2years 10months as a counsellor at Tele MANAS under NHM
23	Kousar Fatima	Mohmad Ali	Chuchot Yokma	MA Psychology	1066	2000	53.3	Nil
24	Tsering Angmo	Stanzin Wangial	Upper Tukcha	MA Clinical Psychology	7.39	10	73.9	3 months internship at SYNAPSES Neuropsychiatry Clinic, 1 month internship at Zentered Minds.
25	Dechen Dolker	Tsering Sonam	Changspa	MA Psychology	721	1200	60.08	10 years as an AFHC Counsellor at SNM Hospital, 1year2months as an Adolescent Wellness Counsellor at CHC Diskit Nubra

Applications for Attender under Tele MANAS

Sr. No	Name	Parentage	R/o	Marks Obtained	Total Marks	Percentage
1	Tsering Yangskit	Tsewang Yangjor	Stok	249	500	49.8
2	Jigmat Lamo	Padma Chokdup	Ney	440	600	73.3
3	Gulzar Hussain	Salman	Faroon	204	500	40.8
4	Mohammad Saifullah	Abdul Rehman	Shey	259	500	51.8
5	Jigmat Norzin	Changchup Gurmat	Sakti	231	500	46.2
6	Dardot Wangmo	Tundup Paljor	Nubra Hunder Dok	303	500	60.6
7	Jamila Bano	Mohd Jaffar	Chuchot Gongma	406	500	81.2
8	Kacho Khadim Hussain Wazir	Ghulam Abass Wazir	Barsoo Sankoo	265	600	44.2
9	Rigzen Dolker	Chemit Wangboo	Temisgam	445	500	89
10	Stanzin Dasqung	Tsewang Rigzen	Sakti	241	500	48.2
11	Ali Akbar	Mohd Ali	Skamboo	223	500	44.6
12	Kaneez Fatima	Zakaria	Tambis	308	500	61.6
13	Omayra Mehbub	Mehbub Hussain	Skara	318	500	63.6
14	Jigmat Nurzin	Rigzen Tsewang	Changa	348	500	69.6
15	Tsering Spalzes	Tsewang Thinlas	Rongo Nyoma	232	500	46.4
16	Zubeda Bano	Abdul Gafoor	Phyang	334	750	44.5
17	Sajad Hussain	Ghulam Mehdi	Sankoo	197	500	39.4
18	Dorjay Namgyal	Tsering Wangchuk	Temisgam	199	500	39.8
19	Shabir Hussain	Ghulam Mohd	Hardass	392	750	52.3

20	Stanzin Namgyal	Sonam Tsering	Martselang			
21	Jigmat Ladol	Nawang Wangtak	Chumathang	318	500	63.6
22	Farida Banoo	Nissar Hussain	Shakar Chiktan	253	500	50.6
23	Rahila Tabasum	Mohammad Farooq	Panikhar	446	500	89.2
24	Zahir Khan	Mohd Hassan	Leh Bazar	384	500	76.8
25	Zulefkhar Ali	Ahmad Ali	Skampari	403	500	80.6
26	Nargis Banoo	Mohammad Sadiq	Khawos	283	500	56.6
27	Syed Ur Rehman	Ibrahim	Turtuk	227	500	45.4
28	Noor Fatima	Mohd Ali Sher	Skampari	263	500	52.6
29	Sami Ullah Sheikh	Ahmad Ullah Sheikh	Leh	441	600	73.5
30	Sonam Wangyal	Tsewang Norboo	Saspol	370	750	49.3
31	Inzimam Ul Haq	Abdul Hamid	Drass	355	600	59.2
32	Sonam Spalzes	Sonam Angchok	Domkhar	311	500	62.2
33	Rigzin Angmo	Sonam Spalzung	Skampari	289	750	38.53
34	Jigmet Chusket	Tsewang Nurboo	Domkhar	280	500	56
35	Yangchan Dolma	Tsewang Stobgais	Alchi	347	750	46.27
36	Padma Yangskit	Sonam Jorgais	Alchi	369	750	49.2
37	Stanzin Norzin	Tsering Stobdan	Karsha Zanskar	215	500	43
38	Aijaz Ahmad	Ahmed Ali	Hunderman Brok	279	500	55.8
39	Yasin Malik	Mohd Hadi	Saliskote	221	500	44.2
40	Tenzin Pasang	Mentok Lhamo	Nyoma	290	500	58
41	Toaherah Banoo	Mohd Mussa	Yokmal Kharboo	383	600	63.83
42	Samiullah	Hashmatullah	Drass	241	500	48.2
43	Sahra Batool	Mohd Hussain	G M Pore	382	500	76.4
44	Abass Ali	Mohmad Ibrahim	Trespone	375	500	75
45	Rigzen Yangdol	Tsering Tundup	Hanu Yokma	275	500	55
46	Stanzin Samchok	Phunchok Angdus	Zangskar	307	500	61.4
47	Rigzin Angmo	Nawang Dorjay	Alchi	492	600	82
				926	1200	77.17

48	Deachen Dolker	Konchok Skyab	Khaltse	411	500	82.2
49	Ishay Dolker	Chunit Angmo	Saspol	910	1200	75.83
50	Ishey Palmo	Tsewang Dorjee	Basgo	339	750	45.2
51	Zehra Batool	Sadiq Ali	Choskore Suru	344	500	68.8
52	Lobzang Angmo	Lobzang Tsultim	Ating Zanskar	278	500	55.6
53	Syed Hussain Musavi	Syed Ali Shah	Trespone	260	500	52
54	Skandar Kazmi	Mohammad Ali	Trespone	360	500	72
55	Tsewang Dolma	Punchok Dorjay	Likir	262	500	52.4
56	Khairun Nisa	Mohammad Ali	Turtuk Nubra	265	500	53
57	Mohd Jaffar	Mohd Afzal	Shiliktsey	375	500	75
58	Ahmad Ali	Ghulam Mohmmad	Panikhar	320	500	64
59	Tsering Dolker	Tashi Tsering	Phyang	261	500	52.2
60	Amina Banoo	Ghulam Hussain	Skampari	346	500	69.2
61	Fatima Bano	Ghulam Hassan	Skampari	256	500	51.2
62	Kunzais Dolma	Nawang Namgyal	Mulbekh	246	600	41
63	Stanzin Lhamo	Dorjai Namgail	Skurbuchan	278	500	55.6
64	Tsering Tsomo	Tsering Wangdus	Skidmang	350	650	53.85
65	Nargis Banoo	Mohd Mussa	Shakar Chiktan	377	500	75.4
66	Syed Hassan	Syed Mohd	G M Pore	330	600	55
67	Tsewang Yangdol	Rigzin Otsal	Choglamsar	298	500	59.6

Applications for Counsellor under Tele MANAS

Sr. No	Name	Parentage	R/o	Qualification	Marks Obtained	Total Marks	Percentage	Experience
--------	------	-----------	-----	---------------	----------------	-------------	------------	------------

1	Ansar Hussain	Abdul Karim	Chuchot Yokma	MA Sociology	479	800	59.875	4years 5months as an LTBI-Coordinator in the Centre for Health Research and Innovation Leh District TB Centre
2	Mohd Hassan	Ghulam Mohd	Silmoo Kargil	MA Sociology	474.8	800	59.35	Nil
3	Hamida Kousar	Ghulam Abass	Nunamchey	MA Psychology	766	1300	58.92	3 years as an Educational Councillor at JK Northern Public High School
4	Shahida Banoo	Ghulam Mohd	Mushkoo	MA Sociology	1146	1600	71.63	Nil
5	Tsewang Kitdon	Tundup Gyaltson	Chemday	MA Social Work	6.25	10	62.5	1 month internship at RBSK and DEIC Leh, 1 month internship at Nutrition Project Leh (LNP)
6	Deachen Chuskit	Phunchok Sonam	Murtsey Colony	MA Sociology	449	800	56.13	1 year as a reporter at the Department of Information and Public Relation Leh
7	Sikander Ali	Lutuf Ali	Chuchot Shama	MA Sociology	937	1600	58.56	Nil
8	Stanzin Nurboo	Nawang Tsering	Kharnak Nyoma	MA Psychology	1046	1800	58.11	1 year as a clinical Psychologist at Ladakh Scout 2 years as a counselling psychologist at Chamtse Mental Health and Social Service, 2 years as a mental health counsellor at fortune saithi Pvt. Ltd.
9	Tsespal Skith	Rigzin Wangail	Spituk	MA Social Work	1149	1800	63.83	3 months internship at Blind Relief Association Delhi, 1 month internship at JPM Senior Secondary School for the Blind
10	Tahira Banoo	Abdul Rehman	Chokiyal Kargil	M. Sc. Applied Psychology	582	1000	58.2	6 years as a Gram Rozgar Sewak at BDO Bhimbat Drass
11	Reefat Amina	Gh. Mohd Babar	Pandross Kargil	MA Sociology	392	800	49	1year 1month as a supervisor at district child protection unit Kargil
12	Shahida Banoo	Habibullah	Chiktan	MA Sociology	1027	1800	57.06	Nil

13	Khairun Nissa	GH. Hassan	Shilikchey	MA Sociology	7	10	70	9 months as a Paralegal Volunteer at the District Legal Service Authority Kargil, 3 months as a field investigator at AICSPS
14	Zulikha Banoo	GH. Qadir	Drass	MA Sociology	8.17	10	81.7	3 months as a field investigator at AICSPS, 1 year as a Sociology Lecturer at Govt. High Secondary School Shakar Chiktan
15	Rigzin Angmo	Sonam Spalzung	Skampari	MA Sociology	425	800	53.125	3 years as a center administrator at OAC Leh, 1years 3months as a Receptionist at 14 Corps Dental Unit, 6 months as a TPDS Operator at Food Civil Supplies & CA Deptt.
16	Padma Lamo	Tashi Wangial	Kargyam Durbuk	MA Sociology	431	800	53.875	Nil
17	Hakima Banoo	Ali	Chiktan	MA Sociology	487.7	800	60.9625	2years 10months as a theatre assistant at DH Kargil
18	Tsewang Yangchan	Thikje Joldan	Skampuk Nubra	MA Sociology	977	1600	61.0625	2years 3months as a block coordinator at ICDS Project
19	Samina Anjum	Iftikar Ahmed	Shey	MA Psychology and Diploma in Rehabilitation Psychology	8.31	10	83.1	1year 6months as a coordinator in (NMHS-2), 1 years internship at Rainbow Child Care Center
20	Kunzang Chuskit	Tsering Chosgial	Chuchot Shama	MA Psychology	6.739	10	67.39	1years 5months as internship at PSRI Hospital, 1 year as an educator at the Horizon Pre-School and day care
21	Jigmet Skidon	Kunzang Namgial	Kharu	M. Sc. Psychology	1524	1800	84.67	Nil
22	Farhanan Itrat	Fida Hussain	Ranbirpur Thiksay	MA Psychology	1428	1800	79.33333333	Nil

23	Chuskit Dolma	Tsewang Morup	Matho	MA Psychology	1249	1800	69.38888889	1 month internship at SNM Hospital, 3 months intership at NIMHANS, 7 months as a AFHC Counsellor at PHC Nyoma
24	Phuntsog Dolkar	Jigmat Dorjey	Murtsey Colony	MA Psychology	5.826	10	58.26	1 moth internship at SNM Hospital, 3 months internship at NIMHANS, 7 moths as Counsellor under Tele MANAS State Health Mission Delhi
25	Ghulam Mohd	Mohd Salman	Kaksar	MA Sociology	7.65	10	76.5	Nil
26	Arif Ali Mir	Abass Ali Mir	Thasgam	MSW	1723	2700	63.81481481	7 months as a field data collector at NMHS-2
27	Stanzin Edzes	Phunchok Dolma	Likir	MA Psychology	1350	1800	75	2 years as a AFHC Counsellor at PHC Chuchot
28	Nazir Ahmad	Mohd Hussain	Choskore	MA Sociology	7.65	10	76.5	1 year as a AFHC Counsellor at SDH Drass
29	Naida Akhtar	Syeed Ullah	Thiksey	MA Psychology	1320	1600	82.5	1-month internship at Smart Neuropsychiatry clinic
30	Nazneen Malik	Ghulam Rasool Malik	Saboo	MA Clinical Psychology	7.65	10	76.5	2 months internship at SNM, 1 month internship at centre for Child and Adolescent Wellbeing, 1 month internship at Antarman Healthy mind and body.
31	Stanzin Samchok	Punchok Angdus	Zanskar	MA Applied Psychology	6.4	10	64	1 month internship at Prayas Social Work in Criminal Justice
32	Mohammad Sadiq	Shabir Hussain	Goma Kargil	MA Psychology	769.5	1300	59.19230769	Nil
33	Afshana Kareem	Haji Ab. Karim	Shimsha Drass	MA Sociology	488.7	800	61.0875	1 year as a AFHC Counsellor at SDH Drass, 8 months as survey coordinator NMHS-2

34	Sonam Angmo	Tsewang Stobgias	Sumoor Nubra	MA Sociology	1000	1600	62.5	6 months internship at DCPU Chandigarh, 11 months as support person at DCPU Chandigarh, 9 months as a community social worker at ZYVS.
35	Ashiq Hussain	Mohd Ismail	Shimsha Drass	MA Sociology	478	800	59.75	3 Years as a coordinator at Human Upliftment Organization
36	Shafiya Banoo	Mohd Amin	Chuchot Shama	MA Psychology	7.43	10	74.3	6 months as an AFHC Counsellor at PHC Tangtse, 1year 7months as a coordinator at District Child Protection Leh
37	Sami Ullah	Hashmatullah	Drass	MA Sociology	486	800	60.75	Nil
38	Toaherah Banoo	Mohd Mussa	Yokmal Kharboo	MSW	1226	1800	68.11	4 years as a coordinator at Smile NGO
39	Sakina Khatoon	Mohd Ali	Chuchot Shama	MA Psychology	776.5	1300	59.73	1 month internship at SNM Hospital
40	Syeeda Bano	Abdul Hakim	Horzay	MA Sociology	816	1600	51	Nil
41	Nisar Ali	Mohd Hassan	Achambore Tai Suru	MA Sociology	477	800	59.63	Nil
42	Kaneez Fatima	Mohd Baqir	Sankoo	MA Sociology	539	800	67.38	2 years as an Education Counsellor at JK Northern Public High School
43	Tsewang Yangdol	Rigzin Otsal	Choglamsar	MA Sociology	490.4	800	61.3	Nil
44	Irshad Hussain	Abdul Qayoom	Youlboo	MA Sociology	1111	1700	65.35	2year 10months as a DEO at SDH Drass
45	Stanzin Palkit	Stanzin Rigzin	Padum Zanskar	MA Psychology	6.87	10	68.7	Nil
46	Kunzais Dolma	Nawang Namgyal	Mulbekh	MA Sociology	490	800	61.25	Nil
47	Rigzen Dolma Namra	Tsering Phuntsog	Temisgam	MA Sociology	440	800	55	3 years as a Counsellor at Mahabodhi International Meditation Center, 5years 2months as a DEO under NHM
48	Kousar Fatima	Mohmad Ali	Chuchot Yokma	MA Psychology	1066	2000	53.3	Nil
49	Nilza Angmo	Tsewang Nurboo	Shenam	MA Psychology	764	1300	58.77	4 months internship at ARYA Hospital

50	Shamima Fatima	Mohmad Ali	Chuchot Yokma	MA Sociology	449.7	800	56.21	6 months as a Teacher at Govt High School Chulungkha, 8 months as a Teacher at Govt. High School Chuchot
51	Tsering Angmo	Stanzin Wangial	Upper Tukcha	MA Clinical Psychology	7.39	10	73.9	3 months internship at SYNAPSES Neuropsychiatry Clinic, 1 month internship at Zentered Minds.

Applications for State Epidemiologist									
Sr. No	Name	Parentage	R/o	Qualification	Registration No.	Marks Obtained	Total Marks	Percentage	Experience
1	Dr. Nilza Angmo	Phonchok Angchok	Skalzangling	BDS with MPH in Social Epidemiology	A-53939	2277	4000	56.92	Nil
2	Dr. Shanaz Nissar	Mohd Nissar	Skampari	BDS	A-4865	2627	3600	72.97	2 years experience in epidemiology from VYAS Dental College and Hospital

										2 months internship at NHM Madhya Pradesh
3	Dr. Nawaz Ali	Mohd Murtaza	Tharumsa Pashkum	BDS, MPH	A-4014	1889	3200	59.03		1year 10months as a Dental Surgeon at NTPHC Batalik

Applications for State Consultant NHM

Sr. No	Name	Parentage	R/o	Qualification	Registration No.	Marks Obtained	Total Marks	Percentage	Experience
1	Dr. Nilza Angmo	Phonchok Angchok	Skalzangling	BDS, MPH in Social Epidemiology	A-53939	2277	4000	56.92	Nil
2	Dr. Nawaz Ali	Mohd Murtaza	Tharumsa Pashkum	BDS, MPH	A-4014	1889	3200	59.03	1year 10 months as a Dental Surgeon at NTPHC Batalik

Applications for Pharmacist (State Drug Warehouse)

Sr. No	Name	Parentage	R/o	Qualification	Registration No.	Marks Obtained	Total Marks	Percentage	Experience
1	Mohd Ali	Mohd Ishaq	Lalung Silmoo	Diploma in Medical Assistant	UTL/LPC/32C-0786	288	500	57.6	2 years Medical Assistant (Pharmacist) Almass Medicos Kargil
2	Mohd Ayoub	Mohd Jaffer	Brakoo Thasgam	Diploma in Medical Assistant	UTL/LPC/32C-0784	297	500	59.4	2 years Medical Assistant (Pharmacist) Almass Medicos Kargil
3	Mohd Hassan	Ghulam Mohd	Silmoo	Diploma in Medical Assistant	UTL/LPC/32C-0100	340	500	68	2years 5months as a Pharmacist at Old Hospital Kargil
4	Aqeela Banoo	Mohd Hussain	Lochum	Diploma in Medical Assistant	UTL/LPC/32C-0097	335	500	67	3years 4months as an emergency medical technician (EMT) under 108 Ambulance Surveillance
5	Zehra Batool	Mohd Ali	Minjee	B. Pharma	LPC/UTL/2022-23/007	8.24	10	82.4	2 years as a Pharmacist at CHC Sankoo
6	Zakir Hussain	Mohd Issa	Chiktan	Diploma in Medical Assistant	UTL/LPC/32C-0512	360	500	72	2 years as a Pharmacist at DH Kargil
7	Farida Banoo	Mohd Ishaq	Lalung	B. Pharma	LPC/UTL/2022-23/052	8.22	10	82.2	3 years as a Pharmacist at AL-Fatima Chemist
8	Sonam Tsomo	Tundup Phunchok	Saspochey	Diploma in Medical Assistant	UTL/LPC/32C-0536	321	500	64.2	1years 6months as a junior pharmacist at CMO Leh, 2 years as a Pharmacist at Alamdar Chemist
9	Farah Naz	Ibrahim Khan	Leh	Diploma in Medical Assistant	UTL/LPC/32C-0518	372	500	74.4	Null
10	Mohammad Ali	Mohd Ibrahim	Chiktan	Diploma in Medical Assistant	UTL/LPC/32C-0243	407	500	81.4	3 months as a Pharmacist at SNM Hospital
11	Zulikha Banoo	Mohd Sadiq	Lankarchey	Diploma in Medical Assistant	UTL/LPC/32C-0484	284	500	56.8	1years 2monthsas a Pharmacist under 108 Ambulance Service
12	Lobzang Dolma	Kunzang Namgail	Sakti	B. Pharma	LPC/UTL/2022-23/051	7.05	10	70.5	1year 1month as a Pharmacist under 108 Ambulance Service

13	Phunchok Angmo	Phunchok Dorje	Kungyam	B. Pharma	LPC/UTL/2022-23/010	7.02	10	70.2	1year 2months as a Pharmacist under 108 Ambulance Service
14	Nissar Hussain	Mohammad Hussain	G M Pore	Diploma in Medical Assistant	UTL/LPC/32C-0075	975	1200	81.25	2 years as a Pharmacist at NTPHC Trespone, 9 months as a Pharmacist at Covid 19 Hospital Kurbathang
15	Jaffar Khan	Mohd Hassan	Silmoo	B. Pharma	LPC/UTL/2022-23/017	2486	3850	64.57	3 years as a Pharmacist at City Druggist Chemist and Cosmetic
16	Syed Baqir	Syed Mohmmad	Saliskote	Diploma in Medical Assistant	UTL/LPC/32C-0431	324	500	64.8	Null
17	Stanzin Chondol	Sonam Angchok	Charasa Nubra	B. Pharma	UTL/LPC/32C-0557	7.37	10	73.7	1year 8months as a Pharmacist under COVID-19 NHM at PHC Digger
18	Abass Ali	Mohmad Ibrahim	Trespone	Diploma in Medical Assistant	UTL/LPC/32C-0071	956	1200	79.67	2year 6months as a Pharmacist at CHC Sankoo
19	Archo Sara	Syed Ali Shah	Drass	Diploma in Medical Assistant	UTL/LPC/32C-0466	341	500	68.2	3 months as a Pharmacist at SDH Drass, 1year 4months as a Medical Assistant at SDH Drass 2 years as a Pharmacist at Puls Hospital
20	Murtaza Ali	Mohd Abuzar	Lankor	B. Pharma	UTL/LPC/32C-0503	6.95	10	69.5	1 month as a Pharmacist at DH Kargil
21	Vilayat Ali	Mohd Hadi	Sorchey	B. Pharma	LPC/UTL/2022-23/050	7.67	10	76.7	2years 4months as a Pharmacist at Bio-Life Chemist 1 month as a Pharmacist at Zest Pharma
22	Kulsum Bi	Nissar Hussain	Pashkum	Diploma in Medical Assistant	UTL/LPC/32C-0447	388	500	77.6	Null
23	Fiza Banoo	Salman Ali	Chiktan	Diploma in Medical Assistant	UTL/LPC/32C-0369	313	500	62.6	5years 10months as a Pharmacist at DH Kargil
24	Stanzin Lhamo	Tsering Motup	Stongday Zanaskar	B. Pharma	LPC/UTL/2025-26/088	7.99	10	79.9	2 years as a Pharmacist at Indian Chemist Leh, 8 months as a Pharmacist at AAM Pidmo Zanskar

25	Bilqees Banoo	Mohammad Ali	Faroona Sankoo	B. Pharma	LPC/UTL/2022-23/038	5359	8000	66.9875	2 months as a Pharmacist at the Covid Hospital Kargil, 3 years as a Pharmacist at Nun-Kun Chemist
26	Zakir Hussain	Mohd Baqir	Faroona Sankoo	B. Pharma	LPC/UTL/2022-23/046	5251	8000	65.6375	4years 7months as a Pharmacist at Pharma Aid Chemist
27	Gh. Mehdi	Mohd Ibrahim	Thouina	B. Pharma	LPC/UTL/2022-23/045	5250	8000	65.625	2years 1month as a Pharmacist at Talib Medicost Chemist
28	Thupstan Angmo	Tsering Norphail	Chuchot Yokma	Diploma in Medical Assistant	UTL/LPC/32C-0435	349	500	69.8	1 year as a Pharmacist at SNM Hospital, 1 year as a Pharmacist at CMO Office Leh, 3 years as an emergency medical technician under 108 Ambulance Service
29	Tashi Dolkar	Phunchok Namgial	Khardong Nubra	B. Pharma	LPC/UTL/2022-23/013	3275	5100	64.2156863	6 months as a Pharmacist at PHC Tangtse, 2years 6months as an Emergency Medical Technician under 108 Ambulance Service